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—10) + (+3) | x

—10) + (+3) ] x 3




5% (=2) 4+ (-1) x
(10)+(+’;)]
)+;+i,\xi

( 3] x3




5% (=2) 4+ (-1) x
(10)+(+’;)]
J)+\+i,\x5

( 3] x3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)]x3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—[(-10) + (+3) ] x 3

(=3)]x3




A=2-[5x(=2)+ (-1 x (3)}x3
=2-[( 10)+ H)]
=2-[(- ‘><5




A=2-[5x(-2)+(-1) x (3)]x3
2-[( 10)+ (+3)] x
=2—[(-10) + (+ iJ\xs




A=2-[5x(-2)+(-1) x (3)]X3
2 - [( 10)+ (+3)] x
=2—[(-10) + (+ i1\><5




A=2—[5><(—2)+(—1)><
=2-[(- 10)+(+2)]
=2—[(-10) + (+ %J\xﬁ

(=3)] %3




A=2- [5X(2+(1) (3)]x3
=2 [(-10) + (+3) ] x
=2—[(-10)+ (+3) | x 3




A=2-[5x(-2)+(-1) x
—2- [(-10) + (+3) ] x 3
=2—-|(-10) +(+3) | x3

(=3)] x3




A=2-[5x(-2)+(-1) x
—2- [(-10) + (+3) ] x 3
=2—|(=10)+(+3) | x 3

(=3)] x3




A=2-[5x(-2)+(-1) x
=2 [(~10) + (+3)] x 3
=2—|(=10)+ (+3) | x 3

(=3)] x3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 — X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7) X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—-(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—-(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2- (-7 X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2- (-7 x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2- (-7 x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2- (-7 x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2- (-7 x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2- (-7 x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7) X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7) X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2- (-7 x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2— (-7 x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2— (-7 x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2- (-7 x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2— (-7 x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2— (-7 x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2— (-7 x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 (-7 x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x (-3)] x 3
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3




A=2-[5x(-2)+(-1) x (-3)] x 3
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3




A=2-[5x(-2)+(-1) x (-3)] x 3
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3




A=2-[5x(-2)+(-1) x (-3)] x 3
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3




A=2-[5x(-2)+(-1) x (-3)] x 3
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3




A=2-[5x(-2)+(-1) x (-3)] x 3
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) X 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—-(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—-(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—-(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—-(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x (-3)] x 3
=2—[(-10) + (+3) ] x 3
=2-(-7) x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7) x 3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7) x3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7) x3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—-(-7) x3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—-(-7) x3

(-3)] x 3




A=2-[5x(-2)+(-1) x (-3)] x 3
=2—[(-10) + (+3) ] x 3
=2—(-7) x3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-T7) x3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-T7) x3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-T7) x3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2—(-7T) x3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

(-3)] x 3




A=2-[5x(-2)+(-1) x (-3)] x 3
=2—[(-10) + (+3) ] x 3
=2-(-7)x3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

(-3)] x 3




X(2)+(1)
—10) + (+3) | x




—[5x(=2)+ (-1) x (=3)] x 3
= [(=10) + (+3)] x 3




2 — [5x(2+(1) (3)]><3
=2-[( 10)+ (+3) ] x
2= (=F) x




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2=(=F)x3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2=(=F) x 3

(-3)] x 3




A

2-
2-
2=

[5x(=2) + (-1) x
[(-10) + (+3) ] x 3

(=7) x 8

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=3=(=7) x3

(=3)] %3




—[5x(=2)+ (-1) x (=3)] x 3
= [(=10) + (+3)] x 3
=(=7) %3




—[5x(=2)+ (-1) x (=3)] x 3
= [(=10) + (+3)] x 3

= (=7 %3




—[5x(=2)+ (-1) x (=3)] x 3
= [(=10) + (+3)] x 3

- (=% %3




2—[5x(=2)+ (1) x
2—[(~10) + (+3)] x 3
3

(=9 x3

(-3)] x 3




A=2-[5x(-2)+(-1) x (-3)] x 3
=2—[(-10) + (+3) ] x 3
=3=(=9 %3




A=2-[5x(-2)+(-1) x (-3)] x 3
=2—[(-10) + (+3) ] x 3

=3-(-9 x4




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3

=3-(9%3

(=3)] %3




2—[5x(=2)+ (1) x
=2—[(-10) + (+3) ] x 3
3

(=3)] %3




2—[5x(=2)+ (1) x
=2—[(-10) + (+3) ] x 3
3

(=3)] %3




2—[5x(=2)+ (1) x
=2—[(-10) + (+3) ] x 3
3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3

=3-(=9 x4

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=3-(0%4

—

(=3)] %3




X
[SX(_2)+(_}1)><3
AIQ_[( 10) + (+3)
_27

7><§
=3= {9

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3

=3- (958

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3

=303

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3

=303

(=3)] %3




A=2-[5x(-2)+(-1) x (-3)] x 3
=2—[(-10) + (+3) ] x 3

=2-(-T)x3
=320




A

2 — [5x(2+(1) (3)]><3
2 - [(=10) + (+3) ] x
i

353




5% (=2) 4+ (-1) x
(—10) + (+3) ] x

=7) x 3
=7) x 3

( 3] x3




5% (=2) 4+ (-1) x
(—10) + (+3) ] x

( 3] x3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3

=2-(-T)x3
=2 (-7) x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2-(-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3

=2-(-7)x3
=2 (-7)x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3

=2-(-7)x3
=2 (-7)x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3

=2 (-7) x 3
=2 (-7)x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3

=2—-(-7)x3
=2—-(-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2-(-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2-(-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2-(-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2-(-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2-(-7T)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2-(-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2-(-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2-(-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2 (-7) x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2 (-7) x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2 (-7) x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2 (-7) x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2 (-7) x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2 (-7) x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(=7) x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(=7) x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(=7)x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(=7)x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(=7)x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(=7)x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(=7) x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(=7) x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(=7) x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(=7) x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(=7) x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2 (=7)x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2 (=7)x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(=7) x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(=7) x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(=7)x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(=7)x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2-(=7)x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 (-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2 (=7)x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2-(-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2 (=7)x 3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2—-(-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3

=2—-(-7)x3

(=3)] %3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2 (-7)x3
=2—-(-7)x3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2—(-7) x3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2—-(-7) x3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2—(-7) x3

(-3)] x 3




A=2-[5x(-2)+(-1) x
=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 —(=T7)

(-3)] x 3




A=2-[5x(-2)+(-1) x (-3)] x 3
=2—[(-10) + (+3) ] x 3
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=2—[(-10) + (+3) ] x 3
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=2—[(-10) + (+3) ] x 3
=2-(-7)x3
=2 - (-21)
=2




A=2-[5x(-2)+(-1) x (-3)] x 3
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